Exercise 9.2
Suppose that a random sample of nine measurements from a normally distributed population gives a sample mean of 13.5 and a sample standard deviation of s=6. Use critical values to test  H0:µ≥15     

Versus Ha:µ<15µ0, at significance level 0.05.
The bad debt ratio for a financial institution is defined to be the dollar value of loans defaulted divided by the total dollar value of all loans made. Suppose that a random sample of seven Ohio banks is selected and the bad debt ratios for are calculated. The mean is 6 percent and s is 1.826 percent. Banking officials claim that the mean bad debt ratio for all Midwestern banks is 3.5 percent and that the mean bad debt ratio for Ohio banks is higher. Assuming that bad debt ratios for Ohio hanks are approximately normally distributed, use critical values and the given sample information to test the hypotheses by setting alpha equal to 0.01.

Consider a chemical company that wishes to determine whether a new catalyst, catalyst XA-100, changes the mean hourly yield of its chemical process from the historical process mean of 750 pounds per hour. Assuming that chemical yields are approximately normally distributed, please test H0:µ=750     

Versus Ha:µ≠750, at significance level of 0.05. x bar is 811, s=19.65, n=5.
